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Read the passage and answer the following questions from 1 to 5.

Later half of the twentieth century witnessed emergence of new trends in Archaeology. New
discoveries in physical sciences and their application in archaeology resulted in an inclination
towards sciences. American archaeologist Lewis Binford pioneered the use of the methodology of
Scientific Philosophy in archaeological research. While in England, David Clarke proved that the
New Archacological method of using concepts from disciplines such as anthropology, geography
and environmental sciences in furnishing archaeological evidences can extract much more
information.
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New Archaeology can be termed as scientific archaeology. The main aim of the old school

archaeologists was to establish the chronology of human culture with the help of excavations.
New Archaeology considers this a mistake; as archaeology is not just about chronology. It considers

that it is the duty of the archaeologists to delve deep so as to establish with reliable evidence, the
cause and effect relationship behind every historical event. A simple example of this can be the
report of the Mohenjodaro excavation. There were seven successive layers of habitation before the
Indus civilisation finally perished. It was believed that the Aryans invaded India and destroyed
the Indus civilisation under the leadership of Indra, their chief deity. This was a Rigvedic evidence
of literary nature and how could it be completely relied upon ? There is no physical evidence of the
Aryan Invasion. It can be seen that the Indus civilisation died away because of climatic changes.
Scientific evidences conclusively proving this have been found. New Archaeology focuses on the

relationship between cause and effects.

New Archaeology has recently invited some criticism. Professor lan Hodder from the
Cambridge University is a major critic. According to him, it is not enough to depend only on
scientific evidences for an explanation of cultural changes, but the context of excavated remains is

very important for their proper interpretation. This ideology, has therefore been called as Contextual

Archaeology.

Now some Archaeologists have moved ahead of this ideology. Socio-economic conditions of
man have always been studied, and now a study of the mentalities of ancient humans is gaining
momentum. How did religion and philosophy emerge, what were the thoughts in the minds of
the ancient painters - such and other things are being studied. Archaeology in the twenty-first
century is indeed going to be very different.

1. UHfagE vawre qUde g9 97e THA FR
(1) VWi qaEeTe TR e e,
(2) FHRRUNE F R Feearal JH 9 e,
(3) AT A Aearan vifas qUard Sqee A
(4) W= HEETen i, A wRitdrEET e snar S T e SR,

Archaeology in the twenty-first century will be very different because :
(1) Contextual Archaeology has been refuted.

(2) Cause and Effect relationship has gained great importance in Archaeology.
(3) Material evidence of Aryan invasion is not available.

(4) The mentalities of ancient humans are also being studied along with their social and
economic conditions.
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Tgidt 3T :
(1) FB(d) 2) (o) 3 (d)
3) (@) (b)) @) (@) (o) 2nf (d)

Which new ideology took roots in Archaeology in the second half of the twentieth century ?
(a) Opinions of English and American experts in Archacology gained acceptance.

(b) There was resistance to Contextual Archaeology.

(c) Mentalitics of the ancient humans began to be studied.

(d) Archaeology began using scientific methods and concepts of sciences.

Answer Options :

(1) Only (d) (2) (c) and (d)

®) @ ®) and () #) () (©and (d)

3. 33.151 faum EiT[‘ifl’!‘Q g 593
{a) Fraewie fedes argei Qe e g S .
(b) ST AHAY AT ifds TOE IR .
fc) i wEeie Ay W e e [0 e
wardt T
1) (a), (b), (c) T & AT TR
(2) (a)m(b)%ﬁmam(c)mmmvﬁmmm.
(3) (a) 20 (b) 3T 3T, (c) AT .
@) (a), (b) A (c) ¥ T ST S
Choose the correct option after carefully reading the sentences :
(@) [tis unscientific to believe only the literary evidence from the Rigveda.
(b) There is no material evidence available of an Aryan Invasion.
(c) There are evidences proving that the Indus Civilisation ended as a result of climatic
changes.
Answer Options :
(1) (a), (b) and (¢) all are correct.
(2) (a) and (b) are correct and (c) is their result.
(3 (a)and (b) are incorrect and (c) is correct.
" () (a), (b) and (c) all are incorrect.
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Match the pairs :

—

(a) Ian Hodder (i)  Relationship between Cause and Effects
(b) Lew.ls Binford (i) Contextual Archacology
() David Clarke (iii) Interdisciplinary evidences

(d) New Archaeology (iv)  Method of Scientific Philosophy
Answer Options : J

(@) (b) () (d)
(1) () Gv) i) ()
(2 (v) ) (i) (i)
(3) @) (i) (@) ()
@) @ ) G (v

5. HeMYOid qewrvmETen oy
(a) WWWWW%W@WWW
(c) HTAES AIESIERT= A el 197 e,
(d) qﬂ?ﬁﬂaﬁﬁmwﬁ?ﬁmamwmm

Wi'ﬂ?ﬁﬁ':
(1) 52 (b) ) (a) 3nfo o)
(3) (b) = (d) (4) (b, (c) &nfor (d)

According to Contextual Archaeology :
(@) Itis not right to depend only on scientific evidences while studying a culture

(b) It is necessary to understand the context of an excavated i
_ : i Z material for u i
its function. nderstanding

(c) Mohenjodaro was destroyed seven times because of the Aryans.

(d) The main aim of Archaeology is to record the chronology of human culture,
Answer Options :

(1) Only (b) (@ () and (b)

(3) (b)and (d) 4) (), () and (d)
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Read the following passage and answer the Questions from 6 to 1

40% water shortage by 2030

The world is set to face a 40% shortfall in water supplies by 2030 dueto urbamsatlon,fpress?res
of food production, population growth and the increasing demand from the manu;;cturmg.
domestic and energy sector; said the United Nations. Ahead of World Water D:aly on flr‘ch 22
the UN released its World Water Report 2015 in New Delhi and stressed that the “water crisis wag

one of governance and not of due to the lack of resource availability”. Even today, 748 million

people do not have access to improved and safe source of drinking water and the worst affected

are the poor, the disadvantaged and women.

In India, the report analysed, the groundwater or tube well revolution has largely contributed
to relieving poverty, but the increase in demand for irrigation has also caused severe groundwater
stress in areas such as southern and eastern Maharashtra and Rajasthan. In fac, the total number
of mechanized wells and tube wells rose from less than one million in 1960 to 19 million in 2000.
Groundwater stress is also a larger South Asia problem the report said. India, China, Pakistan,
Nepal and Bangladesh alone account for half the world’s total groundwater use, the report said.

“By 2050, global water demand is projected to increase by 55%, mainly due to growing
demands from manufacturing, thermal clectricity generation and domestic use and the world will
have to produce 60 percent more food and the global water demand for industry is predicted to
increase by 400 percent,” said the report.

Increasing urbanisation is causing specific and often highly localised pressures on freshwater
resource availability, especially in drought-prone areas. More than 50% of people on the planet
now live in cities, with 30% of all city dwellers residing in slums, Urban dwellers are projected to
increase to a total of 6.3 billion by 2050. The growing Population across urban and rural areas will

need 70 percent more energy and water is required to produce almost forms of it. The report
recommends a host of measures to limit water insecurity. of 1t P
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(1) ¥ fawma
2) Hehfirm
(3) T
(4) TR T

Which of the fo_llﬁwing factor is/are responsible for highly localised pressure on freshwater
resources especially in drought prone areas ?
(1) Development of Agriculture

(2) Industrialization

WA Fehles Hgvg Wevma fuogqrean nvarR sed g amo gevam

(3) Increasing Urbanisation

(4) Migration of people

7. EEEYS! o feaw Seias sefe a2

(1) 2294 2) 22 tfi= 3) 227 (#) 53
Which of the following is the World Water Day ?
(1) 22™ March (2) 227 April (3) 22" May () 5" June

8. Wftr AT Wi IYH T Sk T el {2 31,

(a) T TR (b) TR T AT A (¢ fom

FUEAHT A SO T AW 372 7

(1) e (a) 3 (b) (2) v (b) A ()

(3) T (c) (4) e

The following are some of the group of pepole wha do not have access to safe water :
(@) Poor people (b) Disadvantaged people (c) Women

Which of the above group of people is/are correct ?

(1) Only (a) and (b) (2) Only (b) and (c)

(3) Only (c) (4)  All the above
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9. 2030 T4 WS Wewr 40% VAT q2T2T Frafu givar FRONYE O 1R :

(a) ST SR AT (b) v

() SITETRgHE! Wl (d) CEFEE B

FUTIH! IO/ T qeas Fafor droard HROMY QR e ?

(1) W (a) 3 () (2) R (c) 30N (d)

(@) wH (o) (4) HH (a). (b) A (d)

The following are some of the factors responsible for 40% shortfall of water by 2030 :
(a) Pressure of food production (b) Urbanisation

(¢) Development of water transport (d) Population growth

Which of the above factor/s is/are responsible for this shortfall ?
(1) Only (a) and (c) (2) Only (c) and (d)
(3) Only () (4) Only (a), (b) and (d)

10, WAH RO T HIT TUEET WEE @0 YSedH F5 Fel ed 2

(1) TS -

(2) e snfor g TR - T

(3) TS - 99

(4) S| ¥ - faEr

Which of the following states suffered from severe groundwater stress ?
(1) Eastern Maharashtra - Gujarat

(2) South and Eastern Maharashtra - Rajasthan

(3) Rajasthan - Punjab

(4) Uttar Pradesh - Bihar
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TS e GF WHRY WA - W (stock) 3 Wamel (flow). AHEEA Hevid mifgdrar
TewaTdl AId TS ST 3. SN 2T <6l auiHi A et s, elehaE e 2021 & 8% griet
3. SATUAT ¥ Wi T TEtas 3gd § Gieid aEtat W dd-alima e 3ol &, S,
YoIet, T, UH-ArRT dreaers wam, fédn wam, srgfeaa sifa 3 srgfaa st demaen
TRl YA € A QRSN gEHEl T FAEVEEE] 4 9 9 SiERvErEE, YR SREvar
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el wd wdwe drafe TEfae W TR dEae Ja FHl € T,
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Read the f““f'wiﬂg passage and answer the questions from 11 to 15

Population Growth

Population growth is a serious issue not only in India bul all over the World. India is second

largest country after China. Jt is estimated by 2035 India is going to surpass China and becoming,

number one, if popu[aﬁun growth goes unchecked.
rtility and migration as

Demography is the science of populalion. It includes mortality, fe
the measurements and

ls main concerns are

three decisive components of population growth. |
population movement and

discovery of uniformities in the basic processes of human birth, death,
population growth.

Prof. Melthus well known thinker on the issue of population suggested two basic postulates

(i) Food is necessary for the existence of man and (ii) Passion between the sexes is necessary.
in a geometric ralio (1, 2, 4; 8, ......))

According to him, population if goes unchecked increases
3, 4, w)s He advocaled two

while the subsitence increases only in an arithmetic ratio (1, 2,
checks on population i.e. positive checks and preventive checks.
The important source of information

Population variables are of two kinds - stock and flow.
n years. Population enumeration is

is national censuses which is carried out in India after every te
as primary which reflects on the trends of growth, rate

due in 2021. This document is considered
population of the

of fertility, rate of mortality, migration, rural - urban population, sex ratio,
Needless to say, it helps to the policy planners and

scheduled castes and scheduled tribes ete.
ation growth.

demographers to adopt appropriate policy measures to handle the popul

Taking into account Lhe unchecked growth of the population the policy instituted by the
government of India to influence atleast one of the demographic components of population change.
Population policy seck to enhance the welfare of the society collectively. An effective population

policy resls upon knowledge about the demographic trends, its likely future course, and its causes

and consequences.

In short population policy promote small family norms, delayed marriage for girls, control
the spread of communicable diseascs, reduce infant mortality rate, immunization programmes for
children etc.

All these measures, if implemented properly, will definitely bring down the growth of

population.
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11, HCHHS ROCAIER SN Gt qu ahe @ W dneen T e .
(@) Ao ®) v (€) TUTHR (d) T
Tt WY
(1) R (a) TR (2) W (b) T R
(3)  (b) 3 (c) =R (1) T (d) AR
According to Malthus population if goes unchecked increase populationin______ ratio.
(@)  Arithmetic (b) Geometric (c) Multiplicative (d) Zero
Answer Options :
(1) Only (a) correct (2) Only (b) correct
(3) (b) and (c) correct (4) Only (d) correct

12, T AT AR ATE F1 #efEy g ?
(2) TS FAE ATHAS (kinship) T4 318,
(b) wiFHEEE HEa wiE o e
(c) & v 3feram guiF a1
(d) TIRHEN gt @ ARHEn gl 9 [ias g2 wRviYE STEd A Sary 2.
qaTEr S

(1) (a) 30f01 (c) =R @) () #nfin (d) 7w
(3) (b) 3o (d) TR (@) (a) 3700 (b) =R

What do you understand by reading the above passage ?

(a) Itis a discussion on kinship.

(b) It is brief discussion about the population growth.

(c) Itis a description of an ancient history.

(d) Got insight about three factors which are decisive to and for population growth.
Answer Options :

(1) (a) and (c) correct (2) (c) and (d) correct

(3) (b) and (d) correct (4) (a) and (b) correct

HeAT FHIWATS WA/ SPACE FOR ROUGH WORK _
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13, MRARIE ST R et e D G & ?

(1) e anvr
(2) N mivm
(3) e Ao AT HIfR Heher wfa el

p) g T SR

Indian population policy promote which of the following ?
(1) Wamen spirituality

(2) Illegal abortions

(3) Large family size protects from social evils

(4) Small family size

14. AT AR S Pt TS Wi F /A ST S S S
(a) AR A2 (b)  TET T
%) He faefan faarem we (d) SFHEUd AT
| it T
(1) & (d) TR (2) T (a) TR
(3) W () T 4)  (b) anfon (o) T

I In order to control the population growth in India which of Lhe following measure/s is/are
important ?

‘ ! (a) Increase in infant mortality rate (b) Employment to men

| (c) To promote late marriages of the girls (d) To promote fertility rate
Answer Oplions :

(1) Only (d) is correct (2) Only (a) is correct

(3) Only (c) is correct (4)  (b) and (c) correct

| AT HIFTHIS AMT/SPACE FOR ROUGH WORK
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15, TIHEEN ST AYA F1 JH T ?
(a) hwEEr fein (b) R
() TIHHE TR (i) (d) T - TR R T e
gt 39T -

(1) H (a) TR (2) R () T

(3) H (d) TR (4) =@ T 9T

What we comprehend from the population census ?

(a)  Sex ratio of the population (b) Rate of fertility

(c) Mobility of the population (d) People living in rural - urban area
Answer Options :

(1)  Only (a) correct (2) Only (c) correct

(3) Only (d) correct (4)  All the above correct

Wree JART ATeA WA@ET e W9 Foih 16 1 20 =t 30 91
Tidie WY A ARG WS P A G e o afm w9 0. $Ed e
e favTeAT HEEIRY a6 3T E I, T A e it wwEer e gvar sevash
398 WEW. T A srEeE 29 369 R wUe S () ot S dm @A
o T faueE wEa g9 qeREl Fas] din A TF 7R 1 fadm w@eEy giatrea
R, T, T e A T e =i Her o reedd FaReE a0 e . @,
(i)hmmmmmwwm@ﬁwwﬁmxm. qy,
mmwmmwmmwmmmwaﬁwmmmw
TR T AT e Sy, WA ST U g R ) Iavas 3T @, Sl g2 At iy
frerdia TATEISA HSqA 3] WA (ii) Weid TS T3 (o WUHio 371, T Todsh GUhihs
feerelt w1 ST g F04E @A AR, TR TeEer WA A R AERA AR
ST T ol ST A STRIE S (jii) WA oA AT TR SeWTE Bedrt
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Read the following passage and answer the question® from 16 to 20 :

Federal Finance in India

Governments may be classified into unitary and federal depending upon the concentration

and distribution of power and the relation between the central and local authorities. Under the
unitary system, whole power of government is conferred by the constitution upon a single centra]
organ and focal governments derive whatever authority they possess from this central organ. This

system of government is pr
of Asia. As against the unitary system, federal system provides for a distribution and division of

evalent in the UK, France, Germany, Austria and most of the countries

the individual states of which the federation is composed. The general principle of division of
power is such that affairs of common interest lo the federation as a whole and thus requiring
uniformity of regulation are placed under the Central Government, while all local affairs are left to
the state governments, The two classic examples of federal system are the USA and Canada.
After Independence, India also opted for a federal system of government on the lines of the USA
and Canada.

The distribution of powers in countries adopting the federal system of government defines
the financial relations between the central and the state governments. However, there are some
special problems that have to be grappled within federal financial system. These are : (i) The
sources of revenue assigned to the centre and the states should be adequate to enable them to fulfil

the functions allotted to them. However, in modern states, it is frequently not possible to ensure

this and it is highly unlikely that the needs and resources of each government will be exactly

balanced. Therefore, it becomes necessary lo evolve a mechanism of adjustments so that shortages
and surpluses are evened out; (ii} Each government should have independent financial authority,
i.e., each government should have separate sources of revenue, powers to levy taxes and borrow

and to incur expenditure to carry out its functions effectively ; and (iii) A certain uniformity should

be ensured in all areas of the federation so that no preference is given o one state over the other as

regards payment of federal taxes,

THoAT HINATS AT/SPACE FOR ROUGH WORK
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16. % MY 1Y WOER Ti=arite fawim way atfauit ges siom1/F:v ?

(1) wEgard ame

(2) TErERgE

@) (1) ;)

(¢4) FfusFrE arw

What is/are a determinant/determinants of financial relations between the central and state
government ?

(1) Sources of revenue
(2) Heads of expenditure
(3) Both the (1) and (2)

(4) Distribution of powers

17. QIR HITE] SAET /AT fam wren S e 2
(1) FTR.T 00 FT81 F
(2) A1 M0 WG
(3) FUR.Y, FAST AU WG Fewd
(@) 3, W, e s s
Which of the following countries have adopted a federal system of government finance 7

(1) USA and Canada only
(2) Canada and India only
(3) USA, Canada and India only

(4) UK, France, Germany and Austria

ST FHTATAS ST/ SPACE FOR ROUGH WORK e
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(a) TFRHF TER
(b) HHH TER
() I, w49
(d) JwAT, FF31
ﬂuﬁﬂ'aﬂ:!':

(@ (b) (o)
(1) @) @ @)
(2) (iv) (i) @)
3) @) @) (i)
@) (i) (iv) (i)
Match the following :

List - I

(a) Unitary Government

(b) Federal Government

(c) UK, France

(d) USA, Canada
Answer Options :

@ ®) ()
(1) @ 6 @)
@ ) @ 0
3 @ @ @)
(4) (i) @) (i)

(d)

(i)

(iv)

)
(i)
(i)
(iv)

(ii)
(ii)

(iv)

18

wWy- 11
ST, A

List - II
Germany, Austria
India

Division of power belween Central and State
Governments

Whole power upon Central Government

AT HIWEE Ar/SPACE FOR ROUGH WORK
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19. W AR AT R oA el 3T
(a) HHIE STEw Taa fadrg Wit 3,
(b) W TIENE T6T Hegel W S,
(c) X AHNUAE WA= THME,
(d) WHE N IEHEN HE 9 T TERA GO Gy =6,

it S6L
(1) (a) ® (2) (a) enfor (b) W
(3) (a), (b) 30 () B (4) Tl /e

The present passage recommends this :

(@) Independent financial authorily in a federal system

(b) Separate/Independent sources of revenue for each government

() Powers to levy laxes

(d) Equal disribution of federal revenue between central and state government
Answer Options :

(1) (a) only (2) (a) and (b) only

(3) (a), (b) and (c) only (4)  Allof the above

0. A faur/faum e
(a) T orE FE W T AR fase wEy e e e
(b) T I T T far weEy FiE wT.
() TH Ty g i T e Aefie fowr wEy i w6,
(d) T TR e T A v o e i .

whﬂaa“(: ‘
(1) W (a) 20 (b) TR (2) T (a) S () TR
(3) W (c) I (d) AR (1) T (c) T

Identify the correct statement/stalements.

(a) Federal system of government does not define the financial relations between the central
and state governments.

(b) Federal system of government defines the financial relations among the state
governmenls.

() Federal system of government defines the financial relations between the central and
the state governments.

(d) Federal system of government defines the financial relations between the local

governments.
Answer Options :
(1) only (a) and (b) are correct (2) only (a) and (d) are correct
(3) only (c) and (d) are correct (4) only (c) is correct

HoAT HIVEE AT/ SPACE FOR ROUGH WORK
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T AT e e st wy s 21 7 25 < I

Wy qUiTe

e e e e i e o, e wOn (37 ARA T o i
W forem < i omee, g 99 AT (Electromagnetic 1Yaves) w?ﬁ;ﬁw (Y6T) 4y
T fewmmms gu=n femmil waifed F3d SHAE. TRl (Frequency) & @1 E;ﬁ(\-‘-’{wclengm]-g
Tag Ja=ra auiges o 3. mﬁiﬂaﬁﬁﬁ?(ﬁpeﬂrum}mmmmq i ‘Eilialii,a‘r B
TN ST, i AR 50 TN A S A ARaa 20 W 20 TR T o g
3744,

Yfeal T aRATE 10 e w8w A 300 frm g4EA SaE ST, Wﬂ”ﬁ?ﬂ?ﬁ (A=)
Frafa 1 fm &5 @ 300 frm wéem wea o, T VT ArEnidgl 74 3x 10! §
3x10'6 205 TAHI WA, @WMYT 3EE (Infrared) @A (ultraviolet) ng W‘wiﬁ
THTEY FHA. 798 W o anaiia (Frequency) 4.3 x 1016 7.5 x 101 22eH g ST, TR
TS Ty SHanE o0 §eE Fd Ad. ot ail dial (Wavelength) 31 3tT@ Fel 9@
T =T Rl W 3 GEEEY 5 S9aSTmHTE Hat SerArErEl hell Sl I a0 diEl e
400 & 700 FHTHT=T fHar 0.4 F 0.7 QAT T9H1 354G, FiveA T=31 WRem=1 947 o= 41 3794, @
3atEa (Infrared) T foi=1 S g2 Swid F J8G. 399 fRONdews I9diHs sAfmm
T T W8 HIAM.  FHRE 9 300,000,000 R WadEE 30, " 1,86,000 S WA
TSI ST R 3 Gl 0 M YT F SR AT R, 9 e W A7
fefe Fafa MR WATETN S ST SN, FTA AT WA FAAT NHTTE S H S

oAl HTHTAIG W/ SPACE FOR ROUGH WORK
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Read the passage and answer the questions 21 to 25.
The Spectrum of Lighl

The light is kind of electromagnetic spectrum. Radio waves are clectromagnetic in nature.
Any clectromagnetic wave is made up of electric and magnelic fields that travel through space
from one place to another. The basic characteristics of the electromagnetic radiation are ils frequency
and wavelength. To put light waves into perspective with lower radio and other frequencies. The
left end of the spectrum is very low frequency electrical signals such as AC power 50 Hz and audio
or sound frequencies in 20 Hz to 20 kHz range. These are the lower frequencies that have long
wavelengths. Higher up frequency scale to right is wide range of radio [requencies.

Radio frequencies range from 10 kHz to 300 GHz. Microwaves extends from 1 to 300 GHz.
Even further up the scale we find visible light. The frequency of Optical spectrum is in the range of
3% 10! to 3 x 10'® Hz. This includes infrared and ultraviolet as well as visible parts of the spectrum.
The visible spectrum is 4.3 % 104 to 7.5x 101 Hz. But we are rarely referred to the frequency of
light. Instead we state light in a distance measured in terms of the meters between peaks of wave.
Light waves are very shorl and are usually expressed in Nanometers or microns (one millionth of
a meter). Visible light is in the range of 400 to 700 nanometers (nm) or 0.4 to 0.7 micrometers (pm)
depending upon colour of light. Short wavelength light is violet and long wavelenglh light is red
colour respectively. Right below the visible light is region of infrared rays cannot be seen. The
source of most infrared is heat. Right above visible spectrum is ultraviolet range. Infrared and
ultraviolet are included in what we call as optical spectrum. Beyond that are
X-rays, gamma rays and cosmic rays.

Light travels in a straight line. Light rays emitted by a candle or a light bulb, move out in the
straight line in all directions. Light travels at the speed of 300,000,000 meler/second. i.e. 1,86,000
miles/s. The speed of the light depends upon the medium through which light passes. The above
speed of light is in the free space means light travelling in air or vacuum. When light travels through

glass medium its speed lowers.

Light can be manipulated in many ways. Lenses are widely used to focus, enlarge or to
decrease the size of the light waves from same source. Lenses permit useful devices such as cameras,
binoculars, microscopes, and telescopes. Reflection and refraction are the important characteristics
of light. The law of reflection state that angle of reflection is equal to angle of incidence. Refraction
is another characteristic of light states that it’s bending of the light when light rays passes through
one medium to another. There is relation between wavelength, frequency and speed of the light.
Wavelength is inversely proportional to frequency. Unit of the light is generally expressed in terms

of nanometers or micromelers,

T HTTATE 9T /SPACE FOR ROUGH WORK o
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21.  IETE W9 FRtonst anant 8@ Siveg tren v R e -

(1) FH 3 (2) e
(3) AT 3rEd (4) e e

Frequency of infrared light is than violet light.

(1) Less than (2) Greater than

(3) Equalto (4) None of the above

Y

qERIIEl 9 ESeari

(1) 3x10% Hiz wfadss (2)  3x 108 HIdiz UfeEHS
(3) 3x 108 fRart wfaws (4) 3x10% 37 WSS

Speed of light is

(1) 3x10%m/s (2) 3x10% cm/s

(3) 3x10% km/s (4) 3x10%inch/s

23, W a7 A EEYA SFHaM.
(1) awE T (2) fagga ain
(4) e THE AR

(3) farga eeaeinig
Light is generally in the form of :
(1) Magnetic Waves (2) Electrical Waves

(3) Electromagnetic Waves (4) None of the above

o7 UG A/ SPACE FOR ROUGH WORK
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24, WH THE Fedl Ay fed v,

(1) X (2) Hmiz

(3) ToemH (4) 0 3 A

Light unit is generally expressed in
(1) Meter (2) Centimeter

(3)  Millimeter (4) Nano - NMicrometer

25, WETATSAT U IR RHIVEN TR WHEN A 7
(1) T4 W J Faard T
(2) ATH WETY HW FTE TEA
(3) HaTE fH=n T anfm Zv wEm
(4) Ayl WHA
Optical spectrum consist of
(1) Visible light and ultraviolet light
(2) Invisible light and visible light
(3) Infrared light and visible light

(4) Allof the above

e mﬂ ST/ SPACE FOR ROUGH WORK P.T.O.
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T Saw A e v Wi 26 ¥ 30 =it 3wy fom,

ECEE |

SECn TR e p—————— - IR GEUS R
FTIHAR R TSt 37 T ST ST @ e iy e A 6 A, @
HETRTE T T A, 0 S @ it e e e e o S S
I 3T ST ST, T SN e e A Y S g e e 1
WWWHWWA,WB,WC,WDHWWWW
@ﬁ:mm,mm.mmﬁmmﬁmﬁwm%m& &N
I -shedthie gN AEH H@Ee . -
3@ ¥ W Bmmmmmm%wﬂmmﬁammmﬁ?muﬁm
K & =TT T ST, I el S PR S A T, o St el S ®
T fataed stera @ I Fedd! . BT FROTS TRAH R S
StaTa A anfur D @i it @ aae e, el

Yfeiter e SHETEE A & S WERITE T et S ST, ST A S
FHAT & TSI ST ST A A AE T T RO UAEisTe] S el Ta,
W‘hmﬁﬂaﬂﬁhﬁmww%ﬁaﬁaﬁaﬁ.mwmﬁamumfﬁmaﬂﬁm?mﬁ
. STdT S StaTEeE A € eAld W YERE T, @ AR e -
E - 11 25 ST = S e SiaAae A §H) g9eei RUE o iR d A o Had
.

Hare D ¥ g aEigE! v SfcraTe Sae=gEE TR TR, waeeeiayd s
Fferrgy AFSAE AEIHGR WY T @ TRHE THEvE W S SiaTdd D .

iy At R @ S e Rl SRfey feww D 9v wwi
waE.  SgTew D @t wEa @ ey snfn Affeeafaen Sriye 5w, wem qems
S D & WA 200 - 400 [U TR AT T A IOHfeaia Suined ey gew 39
F7q.

=T HIHTEIS W/ SPACE FOR ROUGH WORK

Scanned by CamScanner



=

g 28 P14

Read the following passage and answer the question no. 26 to 30.

Vitamins

Vitamins are organic substances present in small amount in many foods. They are required
for carrying out many vital functions of the body and many of them are involved in the utilization
of the major nutrients like proteins, fat and carbohydrates. Although they are needed in small
amounts, they are essential for health and well-being of the body. When these vitamins are
discovered on the basis of their function and before their chemical nature fully elucidated, they
used to be designated by affixing the letter A, B, C, D or in terms of their major functions, viz
Antixerophthalmic, Antineuritic, Antiscorbutic and Antirachatic Vitamins. After establishing the
chemical nature of these Vitamins, they are now refered to by their chemical names such as Retinol,
Thiamin, Riboflavin, Ascorbic Acid and Chole-calciferol.

Vitamins can be broadly classify as water soluble and fat soluble vitamins. B-complex Vitamins
and Ascorbic Acid belong to the former group while Vitamin A, D, E, K are the fat soluble Vitamins.
Water soluble Vitamins are not accumulated in the body, but are readily excreted while fat soluble

Vitamins are stored in the body. For this reason, excessive intake of fat soluble Vitamins,

Vitamin A and D can prove toxic.

Retinol or Vitamin A is necessary for clear vision in dim light. Lack of Vitamin A thus leads

to night blindness. Another function of vitamin A is to maintain the integrity of epithelial tissue.
in some foods like butter and ghee, whole milk, curd, egg yolk, liver
sent as Retinol. These food contain yellow pigment

Vitamin A in the body. So they are termed as

Retinol or vitamin A is present
etc. In vegetables food Vitamin A is not pre
called Carotene which is converted into

Provitamin A.

Vitamin D is required for bone growth and calcium metabolism. It plays an important role in

the absorption of dietary calcium from the intestine and its deposition in bone.

Vitamin D is formed in the skin by Ultraviolet rays present in sunlight which convert a
resent in the skin to Vit. D. Lack of Vitamin D leads to rickets and
of child is placed between 200 - 400 IU; which may be

ntries through exposure to sunlight.

cholesterol derivative p
osteomalacia. The Vitamin D requirement
oblained in great measures in tropical cou

e
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26
26. I T
¢ ) TR ST ‘D' ¥ wam weE @ : _
[R) 200-400 | (2) 20-401U @) 200-4001U () 200 - 400 HAI
equirement of Vitamin ‘D’ in child is .
(1) 200-400mg (2) 20-401U (3) 200 - 400 IU (4) 200-400 pg

27. Wm@ﬁmwmmﬁmmm )
(1) = @) A () W (4) FAEAE
In vegetable foods, instead of Retinol following chemical is present :

(1) Curcumine (2) Curcuminoid (3) Caroten€ (4) Carotenoid
.

28. TETES A A1 VAT -
(a) memwmawm
(b) SEFE FH TN SFE ST,
(c) mmmﬁmﬁmmﬁﬂmmﬁmﬂ

(d) SraTEe A’ 5 A ST TR w1 E TR FTCUIIYA .
TR FI TAE/ T W 3R 7

1) (a), (b) 300 (d) ¥ A A 2) (c) 3 (b) & A Sed
(3) () MU (d) ¥ 2T e () (), () 30 () ¥ FeA e

Read the [ollowing statements :

(a) Retinol, Thiamin, Riboflavin and Chole-calciferol are Vitamins
(b) Vitamins are needed in small quantities

(c) Ascorbic acid, Retinol and Chlorofin are Vilamins

(d) Excessive intake of vitamin ‘A’ can lead to night blindness
Which of the option given above is/are correct g

(1) (a). (b) and (d) are true (2) (c) and (b) are false

(3) (c)and (d) are false (4) (a), (b) and (c) are true

00, SHaTERE A 3@ He W :
(1) fea snfon S
(2) =EmEd ferereeomdt anfor wrvaTa fereresod
(3) STEvEH S ST
(4) Hq@ S ST
Vitamins are classified as
(1) Organic and Inorganic
(2) Fatand Water soluble

(3) Essential and Non-essential
(4) Saturated and Unsaturated

=T FHTATEIS WI/SPACE FOR ROUGH WORK
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30. e et AR Fod At ¥ e D e amd e T ?
(1) SHETEE ‘D’ ¥ S TR e g e s,
L(2)  TEUY SR SEEE D ¥ e T,
(3) S ‘D' = FHAAYe ey a.
(4) STETEE ‘D' & TEm] faramm s,
Which of the following statement regarding Vitamin ‘D’ is false ?
(1) Sunlight exposure is necessary for formation of Vitamin ‘D’ in skin.
(2) Excess of Vitamin ‘D’ is not harmful.
(3) Deficiency of Vitamin ‘D’ leads to Rickets.

(4) Vitamin ‘D’ is fat soluble.

et IART AT a7 AT UyA i 31 9 35 =1 3¢ 2.

Ha ¥ 3T UF TAAFE YA S1 TR A F S Jeds w9 Tt W/ s gEe
HAlA o T W 6,022 % 107, HE0TETon FREETE o WUen A F0 AEaE. JHd
TEEA % N A TR T wef e aEee sEd S @ T o e s
36,5 10 & ST TS SAREA | A0 FEEE SEEEE 35,5 T A W Fe A a4,
e S TR TS ¥ O ArEd TEAien qerd, 9 2 1 atm=101.325 kPa 30
AT (273 K) T TR, § 22.4 FA-2fi 30 o, 9 T S I S 3 S

EaTs Tl gewiE Hefd g WER ;. RS (WHEEL FEEEd) I T (M),
TR (N), eld (F) 3o aegee (TeEe e Tw) I @ Hiderdl (m), TS (x)
wefifa @A, ey Hefd, M, @ UF FRSfEie ZEvm o 7o fh e emed w3,
THRE, N, § 9 UF Heldd 9 AReRl Thd e A favemiE aegert e (e
Toae) = aE afvfEAEREE Fen (Wfed ) o g sy e st
At sTavEEd TE. wHEEE, N, T s S e o ae R aeged sed
TR A U SR, 2 S A ARG S, T 1A ST g B 1 0
mm,ﬁ1mmﬁmmﬁlmmfﬂwﬁﬂm”.
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28 c

SR HE SRR 321 + 31w, 37eeh qerad ST, eremn TR, SEATIEHER 1 g
SRR fereet Zrern e T o ferag e T ST, 3 forter, W T R iy
Wﬂmﬁﬁmmmmmmmmﬁw HECITSAT e
AL 3T,

WWW&@;W@)WWWWWWW
St e, (x) 1 T ST ZiTE e e e @ S e ST
(39 F=IA : H=1, He=4, Ne=20, N=14, O=16, =32, C1=355, Ar=40, Ag=108)

Read the following passage and answer the questions from 31 to 35.

The mol is a SI unit of the amount of a chemical species/substance-
with the formula and contains 6.022 % 105, Avogadro’s number of pﬂﬂides of the species
represented by that formula. The molar mass of any chemical substance is the mass in gram of one
mol of that substance, this can be oblained by midin-g the atomic weights of the component elements
present in the formula of the substance (eg. molar mass of HCI is obtained by adding atomic
weighl of Hie 1 and Cl ie 35.5=36.5 g) The molar volume, i¢ 224 Lll’n:‘ is the volume of one mol of
any gas (assumed to behave ideally) at 273 K and 1 atm= 101.325 kPa pressure (STP). This volume
can be converted ta the volume under any condition of temperature and pressure by using general

BiVy _ PaVa

as equation ——
gas ed T, T

It is always associated

Chemists express the concentration of chemical species on the basis of volume (temperature
dependent) ic molarity (M), normality (N), formality (F) etc. as well as mass (temperature
independent) ie molality (m), mole fraction (x) etc. The molar concentration, M, of a solution of
any chemical species is the number of mol of that species present per dm? of the solution.
Normality, N, is a more convenient unit of concentration as the number of equivalents of an analyte
(unknown concentration) present= the number of equivalents of the standard reagent (known
concentration) added. As a consequence, the stoichiometry of the reaction need not be derived
every time a titrimetric analysis is performed. Normality is the number of equivalents of the solute
present per dm? of the solution. The number of equivalents is the ratio of weight in gram of the
solute to the equivalent weight of that solute. The equivalent weight of the solute then needs to be
km?wn which is def}rned as “the weight which contains, combines with or displaces one part by
weight of hydrogen".

Cranmmr erc:al;iax:mlz::il;;i;g;e;i ie af;dts a?ii bases are highly concentrated. To use them in

' X ) ne . " i s .
%m:atgry uorll;:lr] of z LuiF:.ra]eﬂ:an or mI::nl ini:osmo toI ute fhe solutions with definite quantity of water.
. e total n mber of qu - concentrated and dilute solution, must be the same
is the basis of this dilution.

The mass based concentration units are molali i
) 4 mole fracti i ality, m, ie the number of mol of solute dissolved
in a kg of solvent and mole fraction, x, ie the fraction of the total numb

! . luti er of mol of that component
present in the given 50 ution.

(Atomic weights : H=1, He=4, Ne=20, N=14, 0=16, S=32, C1=355, Ar=40, Ag=108)
w, =40, Ag=

———
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31, I STTIEH TR, 25 wriifenitex 0.1 N et i 0.25 N e
TSRS QU sifufiar s, e
M 100 (2 10 (3) 250 4) 25
3;; g..t".i'ju;?‘?(%i;]?ndﬁi& 25 em? of 0.1 N HNO, would react completely with cm?
(1) 100 ) 10 (3) 250 @ 25

—

32, Sl 4.9 H,50, ¥ V UHifedix zmvig ares, e e v SEIHRGT 0.025 N 3a 37, T

V= .
(1) 4 (2) 2000 (3) 4000 @) 2
4.9 g of H;S0, is present in V em® 0.025 N solution of sulphuric acid, then V =
(1) 4 (2) 2000 (3) 4000 4) 2
33, 107W AIET TASRA H,, T I A0 qOEAE arsee el ST
1) 10 2 5 @) 1 4) 0.1
10 g of gaseous hydrogen H,, at NTP/STP contain mol of hydrogen.
(1) 10 @ 5 3) 1 @ 0.1
34, 7 U9 SYFY TEETE N, 2 atm SEM A0 546 K A9HMHW dmd 0% T 3.
(1) 5.6 2) 11.2 (3) 224 4) 313.6
7 g of gaseous nitrogen N, occupies  dm’at 546 K and 2 atm.
1) 5.6 ) 112 (3) 224 (4) 313.6

35, TR STl WATTaR AIRVATIS), S HE e @i Wi 4 wef

T/ T /@ amE/ e

(1) wREREE () TR (3) B Heew (4 w0

On any day of the year, to use in laboratories at sea level the most correct concentration
unit/s is/are
(1) Only molarity (2) Only normality (3) Only molality (4) All of the above

HEAT FHTTETS AT/ SPACE FOR ROUGH WORK
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Q@IS AT AT Tt AU W9 wHiE 36 40 = IO O

0l

HHCCE TSR HEd FOT dea e afad A, g e o
I I AN T A 3 W A, Wmm@an%:wmmfamm@rﬁmm
qTdeATa fEud WA He A= Asat A9 . g g A @ G T - B
WNWWWWWWW'WW'WWWW .ilashzaa
aTw F 0 T el W ey TR See Fol 3 RO : i
- TR i

'm'mmmmmaﬁmwmwfﬁ. = 1A
Pt Tt T e ST 3 T e, e A S ST TATEhIED ﬁﬁ:‘%{”lfaﬂ
Hereen w&a@mmmwmmﬁgﬁfﬁﬁ?ﬁﬁ e T FATER
T PR @ HerE saviE S qerd Hee Ha aom 3t e, Eﬁ'ﬂ”l ’“ dUsiR '3" m‘ﬂ?‘?
TR T, TR T2 SIS 1991 B A T AF SfiTees FHrS W‘ 4 HET e fTa’
3 TR Aie. SjuiEE, TS WA qEvd AdEl A e Teren e ﬂq;“iqﬁ';;fm A
TS TR AE ¥ T A, e Fe o o WA, T 9 ”Tmﬂ@lfﬁ
aﬂmwh@ﬁawmmaﬁwﬂm%%wmm- RS
e fagia Wae @ weEt e arem we fearer o TR F. T e Al f'ﬂvilﬁ'q R2RE
RS S T A FH ST A TR e S gerTa fefamarEl e
i W) U F THATE 2@t PR S 3.

Read the following passage and answer the questions from 36 to 40.

Conceptually, the idea of basic structure s not sacrosanct, but is not amenable to change if
circumstances so require. An example will suffice here. The federalism that the founding fathers
prefered was articulated as a scheme of distribution of power between two layers of government -
one at the Union Level and other at the Provincial Levels. The Seventy-Third and Seventy-Fourth
Amendment Acts, in fact, altered the basic structure of the constitution by introducing ‘a third
tier’ besides the Union and States and was therefore ‘Violative’ of the basic structure. The
introduction of a third ter is a striking distortion in the prevalent two - lier structure of governance
because this change is in the direction of greater federalism than what exists. However, these
amendments were appreciated for having translated the notion of ‘democratic decentralization’
into practice and are thus reflective of the organic nature of the Constitution. Similarly, the
introduction of the terms, like ‘Socialism’ and ‘Secularism” (though the former considerably cost its
s.alience wilh the adoption of the.1991 New Economic Policy) did not disrupt the basic structure
simply because these changes l?,‘?-'ldl'}l'lll_‘,' commanded ‘general assent’. What is thus critical is the
fact tha_t the values of LhJ Conshlutmn;ll structure th-at.afc considered ‘basic’ or ‘fundamental’ are
ﬂlhOtgct_'ffI.;r; ;ﬁ;‘;ﬁ’;ﬁr&‘;;g:ﬁil:::ﬂ:u E‘;ﬁ E‘lthanlgle }:f it is absolutely necessary to keep pace with
. ¢ . i‘: ;1nnc the less has struck ‘a b1.1ance0};g the basic structure doctrine creates a contentious

pace, alance, if an uneasy one,... between the responsibilities of

Parliament and the Supreme Court for protection of integrity of th =
Democracy in India]”’ grity of the seamless web [of Constitutional

B
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36, 73 A74 S EEN ORI F0 R Yt et 9 092
W e
() TG 9 21 98 18 W wefady
(d) FEwiEd wewiEaL frm
Wmﬂ'ﬂﬁl:
1) () "= @ @30 @ @@ICQ @ T

What was introduced by the 73 ang the 74th Constitutional Amendment Acts ?
(a) third tier of government

(b) democratic decentralisation

() reduced the age of voting from 21 to 18

(d) rules regarding union territories

Correct Answer Opiions :

(1) Only (a) (2) (a) and (b) (3) (a), (b)and () (4) Al of the above
37, 1991 TTEh ST T e T i s R e T e ) 2

(a) HANERE (b) sfFaem (c) TRl (d) FHRER

I I A

(1) (a) K (2) @3 3) @3 @ @3

Which value cost its salience with the adoption of the 1991 New Economic Policy ?

(@) Socialism (b)  Secularism (c) Democracy (d) Federalism

Correct Answer Options :

(1) Only (a) (2) (a) and (b) (3) (a)and (c) (4) (a) and (d)

3. TETerw! FocHl faHT HHRY HeHdl ' Efae i ?
(a) T S WIS,
(b) TERN e 357 fha fapmen e THde.
(c) TER & i GESda wfatsiean T Eren Jrre [,
(d) T S W g1 Ha s qrHer e,
BecaenneRpeipE
Q) @aAME @ @IME @) @I (@) (@) ) A
Which of the following statements imply ‘general consent’ ?

(a) support among the people. -
(b) general rise or growth of a concept with agreement from all.
() acceptance among the electorate and their representatives in Parliament about a policy.

(d) doctrine about the general collective intellect of common people.
Correct Answer Options :

(1) (a) and (b) 2) (a)and (9) (3) (a) and (d) 4) (a), () and ()
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39. 1991 Wl WiEwew T anfifw g .
(1) VuSERRR 3 e
(2) wSERTEN T sifvem ddaa T
() TENEEEEY dZEy B
(4) EHISERTA T WO HO A
The New Economic Policy adopted in 1991 was ______ -

(1) based on Socialism
(2) notat all related to the principles of Socialism

(3) indifferent to the concept of Socialism
(4) praised the principles of Socialism

40. TS YRV T WA FE Artae) e e ageis AU HIowdl FROMT 42
| (a) HHIIS TGHAT ST YT FT 3T L.

‘ (b) T HlBEUER T TEUATHST JUIgol SqEvgs 38 =M.

(c) I, Afde 7 T aRfEden devia @ 9ga Saws A8 =

(d) faEm e SfuF=N Io7 ghe=n FHIN aqe HLOFEIEL.

MFH I 4Gy
(1) F92 (a) (2)  (a), (b) 3F (c)
(3) (b), (c) 3T (d) (4) eyt 9d

On what grounds are changes in aspects of the basic structure of the Constitution Justified ?
(a) Because it is the wish of the majority party in Parliament.

(b) Because it is absolutely necessary in order to keep pace with changing times.

(c) If the change is necessary in the context of Social, Economic and Political Milieux.
(d) If the change is in the form of value addition to existing rights,

Correct Answer Options :

(1) Only (a) (2) () (b) and (c)
@) () ()and (d) (@) Al of the above
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3 T8 T TR FE I Wi Ffrarersh e gzt o s e, g o
o, fot Bt-11 L SR N wriren amht sro ) fdt -3, e -, o e
foet RN ! G WG Wied Fnferary s, 7 WG RATeAr WA 6 2Aaa e, i
aeeh S, & e, e e s 4t ivarereh e i e Fven fren 70 et 3
T B, TR M & et Wik sufon wron snuma 3e1 A AiEaE f 3 Ot
wfied. 3 S T TR O = 6 iz rereen e v e e TeH T, o 5
5 T, IR SANHS A0 UF S0R, e o @ siond o, @ won, @ e s
AT S8 T < M. 31 R Wi e St w7, ) 0% 2 32 0 7 <A i
¥ 3. B SR AT S, FAFTIN iy 316 Fog oA S, st goi
TR T T 3T, T AR ST, Tt A Vet e, ren frret g B, T gl S, <
0, &9 A SAfRTe; ¥ R fadi sifere; v e, oftfede s 0 veoRt S St s
VI Y KA, T A4 TR 77w 3 doda @ 3w siae afaom e, G age TEe s
TR STt S AT W WA wrer fowa i e A famn, siasren on weurE R A e,
TSN T VAT e AT 3 ] 318 Wezel @ q0e A1 1 4 I Hel, 7 1 52 AR A&, S
A et Yd dIG e AerrTel 9 T6T YR A, d T eren wiifeda srEen anga. anfor
et ageme F9a W2 A wAe g wfifrerd AiEdt 7 o 0 adE 9 gqEd E wRe
YA 1Y e FSeid ITOAW.  haw Wl ogd v G e SiEe A, s e
et arfuamfirer orpger 01 A Wi 3fdw siearn e e, SRfedten s sTER T,
fromrA ameelt € S i T e S S S T SR o, S i s e
T WO e W WhICH! it 37, € G Wehl i 31e; Wy @ Wt stamre fguiar 9=, @
T o TR, @ Wi @l e TR A 4 e e e e A ofe. st
vttt s, forem aTvEn RPN QRIS IR HE Hacl WES, @ Tourd R, w@ren iermdiwmmy
T T iER g ekt 3/ TN ¥ 9 FW AR, S e WX 39 @ @0 R, S
TR ST 31 STIUTE ATZA, O A 1 UISTHR FHUATHIES WIS F § WA @R, W S e
i =i} e, St I TEES A 0 A @ g, Sl s de e o died T e
TR, Wiy Tewe 9 fafauRd e TgEd S SR Yo W A fof vom . assisd
TR T8, T ATy i Aethar AT S 3F. ¥ HAR I A e e g
T 2 afer a1 X ey A SR, SHEHTEA AR YR AL A fagidt TR, o G #t @
T STy B, O SAaTE el A A

—
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41, IR T vivdE " .
(1) Afier st e (2) ad Afew W,
(3) TOTEA Il Fedl, (1)  snoafers i,

42, @S W 0 gEY ' R ?
(1) Fh ftfeerd) s foreawil @A HACAHER fF .
(2) mmqﬁaﬁmmmﬂﬁﬁwmﬁﬁwmm
(3) 7901 SR T3 AT FA e SR TS A
(4) Fafair e AEE WA IR €5 S arer A

43. ‘Ifae wdt’ s i ?
(1) e o frmga 3 T L
@) S @ A T R e

@) PE-Rr g, T SR A S,
¢ = ST ey EE FEA oA Wi i wm e w0,

44, TEIA SRS TN SHACTEI T T HIRI 2
(1) -39, 9, fawn, e, e At fasm frafam,
@) e e, Al fAwd i .
(3) ¥ A TEW FO F S Al A TS A,
(4) Sl Areen s wfifed weem TR T 9 gerd S,

45, 3mqean Afaes SfaAran * Sie’ hiow 2
(1) 3myeq) =afFem A fzhiao.
(2) SYEA faRE TR HE W e s o,
(3) e wfifEden e T,
(4) enve i i sfimfirs saga .
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B»ﬂd the following passage carefully and answer the questions no. 46 to 50.

were ‘bc ki piece of black charcoal. Yet all round him glowed a perfect glory of
;;poll:l“-f"the all.l 1 ue of the §k}r,‘ the delicate, c]mnging pink of the great jagged pe:lks above
‘hin; the red, b _uet;:lnd yellow wild flowers; the golden brilliance of sunshine; and the rich, soft,
amello“'ed tints in the old houses of the town, Colour! Tiziano loved it more than anything else in
the world. Yet_ how was he to reproduce it and get it into his pictures ? He had no money to buy

ints, and paints were expensive in those days. His father, who was a mountaineer, would never
fisten to anything so foolish as buying paints for a boy when the family needed food, clothing and
fuel to keep them warm. iy

Let Tw:'mr-lo make shoes! The_re was a trade for a man! All the same, Tiziano continued to
dream of painting and to wonder if there was not some way he could make a picture in colours.

The day before the f_QStiVﬂl of flowers, Tiziano chanced to pass the spot where the garlands
had been woven the evening before. Suddenly, he noticed stains on the stones of the walk before
the inn. They were stains from flowers that had been dropped and crushed, and those stains were
coloured! They were every colour that a painter needed! In a moment the feast and the fun went
out of Tiziano’s mind. Catarina saw her brother heading away from the merriment and hastening
out of the village. She ran to bring him back and found him in a meadow like a variegated quilt
from the brilliance of the wild flowers. “Tiziano!” she called, “Why are you running away from
the feast ?” The boy did not answer for a moment. Too often he had been leased by his family and
the villagers for the crazy dreams in his head. At last he answered bluntly, “I have found that the
stains of flowers make colours, and | am going to paint a picture.”

46. In the third paragraph the word “Variegated” means :
(1) marked with patches of different colours
(2) having different designs
(3) flowery
(4) of different varieties

47. At the end of the passage it is clear that Tiziano had discovered :
(1)  that he could fulfil his dream of painting with colours obtained from crushed petals.

(2) that painting was a better profession than making shoes.

(3) a way to make his sister happy-
(4) away to add the fun of the festival of flowers.

48. Which of the following word best describes Tiziano's father ?
(2) artistic (3) insensitive (4) generous

(1) miserly

FTATRIS WI/SPACE FOR ROUGH WORK -
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49.

36
Tiziano's father wanted his son to be a

(1) Painter (2) Cobbler (3) Florist (4) Mountaineer

50.

Tiziano's ‘crazy dreams’ that are mentioned in the second paragraph refer to his desire to:
(1) Make the best shoes in the land.

(2) Find a method for recycling the flowers from the feast.

(3) Bring prosperity to his family and his village.

(4) Paint pictures in colour.

51.

o et 2 7, 3 e anfvn 2 s g o, T ARfeR 3 S FEE W el =5,
e TquarEt dyreE fad ?

11 10 E
@ o ® o @) 7

~1|

1)
If a bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the
probability that none of the balls drawn is blue ?

11 10

5
(1) @ & 3 7 @ 3

N

52.

areie G fadt HEAET 273 7 M W e 2

5-_;}6, 1156, 3[3:03, 3564, 5?33, 38:22, 9605, 8?'36

(M 5 (2 3 3) 4 (4) 8
How many of the following numbers are not divisible by 273 ?

546, 1156, 3003, 3564, 5733, 3822, 9605, 8736

(1) 5 (2 3 (3) 4 (4) 8

o1 FHIATETS W/ SPACE FOR ROUGH WORK

Scanned by CamScanner



37 P14

T IS W o 8, e ;
it 3 SRR A Tt ferg e, T A oA o fagan g 2

() e (2) it (3) g @) s

For an examination, there were

paper was previous to History,
in between Geography and Hist

FIVE subjects, Examination starts on Monday. Mathematics
Science paper was after Geography and Marathi paper was
ory. Examination starts from which subject ?

(1) Marathi (2) Mathematics  (3) Geography (4) History

54. W%W?l&?&[)ﬂﬁ?ﬁﬂ,ﬁ%‘lmﬁwﬁls%ﬂﬂﬁm.?ﬁmﬁﬁﬁﬁﬂ?ﬁwm
st Bel, VISt 15% TR 3T a7 ?

(1) ¥ 21,000 (2) T 22,000 (3) ¥ 25300 (4) ¥ 25,800

When a plot is sold for ¥ 18,700, the owner loses 15%. At what price must that plot be sold
in order to gain 15% ?

(1) ¥ 21,000 (2) ¥ 22,000 (3) T 25,300 (4) ¥ 25,800

55. REST, MITE, STIR 3101 TRIM ATt 17 T2l 31 Wehaie! SThaiied aret 1456, 3154 9 4231
379 3R, SEMI 91 Y=2/id! Heha fael.

(1) 5625 (2) 4265 (3) 3265 (4) 3526

The number code for three words from among REST, MITE, STIR and TRIM are listed here in
a random order as 1456, 3154 and 4231. Select the code for word SEMI.

(1) 5625 (2) 4265 (3) 3265 (4) 3526

"FHTRTEATS ST/ SPACE FOR ROUGH WORK "
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56. fedtel faum 3 W srpam snar, feded Rt nuf sfaw swEm fras w9
(a) e deven w wE e e e e A1 aed S
(L) HEFTER SRR W ey, WA @A TR
(€ TR TR Terg frd It @ =,
(d) 16 SutEEd B Werg, Tenl <91 e,

gy 3

(1) waren d-udat Fas faw o o wd o g derg, e,
@) a2 Amced WE S gid] Targ, e,
(3) <l =aerel 5 weRl Werg, 16 auidee .

(4) STEd= THG AL

Study the statements given below and conclusions that follow these. Select the appropriate

conclusion that is based on given statements.

(a)  All hockey players playing on the ground wear T-shirts with blue emblem.
(b)  All players who are on the ground don’t play hockey.

(c) Some hockey players also wear blue caps.

(d) Hockey players who are below 16 years always wear a cap.

Answer Options :

(1)  All persons having blue emblem on their T-shirts are hockey players.

(2) All persons wearing blue caps are hockey players.
(3)  All hockey players wearing a cap are below 16 years.

(4) None of the above.

<41 FTATATS S/ SPACE FOR ROUGH WORK

-

 —— e ——

=g

Scanned by CamScanner

"



(2) T&= snftn enforamon

(3) M i1 SfeETn

(4) sifusRgE nfn 3zm

Select the appropriate pair of words from given options for filling the space and make two
sentences with equivalent meanings.

Many senior faculty members who were accustomed to being addressed in a more collegial
and egalitarian manner were alienated by the tone of the new department chair’s
introductory remarks.

(1) Sanguine and Propitious
(2) Saturnine and Ignominious

(3) Peremptory and Ignominious

(4) Imperious and Peremptory

= R ROUGH WORK
HWE s/ SPACE FO P.T.O.
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58. AT TR FSYE A A FER wata 3aw v Fom faur FEs

o e @ A SR T A e e Wl i A g
P T T T o, e € ST W WO e WA FRie FT o A
A e i e w3 4% T A 15 TR B iea T . o
W.mmmmﬁmwmmmmmamm
fomeRy T e @ UE Feeden Frfa s . fasraa: Sl 9 311 AW Hafd
Wﬁwmﬁiﬁtmmmﬁmaﬁmmﬁmﬁﬂmﬂzﬁwm
T .

(1) warErEE ST T w15 9§ Wit F6r S nd.
) e AU SRR S Sl 9 o7 ZarAl I weE s < 3R,

(3) mmwwmﬁaﬁmmmﬁmwwammﬁ

(4) TUATERAE W A .

Read carefully following passage and select the statement that best describes focus of
argument.

Using technologically advanced manned and unmanned undersea vehicles it is possible for
oceanographers to observe sca floors. Direct observations of the ocean floor are made by
deep-diving submarines and some of these submarines can dive to depths of more than several
miles and cruise at depths of 15 thousand feet. Radio equipped buoys can be operated by
remote control in order to transmit information back to land based laboratory including
data about water temperature, current and weather. Some of mankind’s serious problems

especially those concerning energy and food may be solved with the observations made by
possible with these underwater vehicles.

(1) Technologically advanced undersea vehicles can cruise at depths of 15 thousand feet.

(2) We are facing serious scarcity of energy and food with respect to ever growing
population.

(3) Advanced underwater vehicles collect information about sea fl i
for solving problems related to energy and food shortage. of:which.can;be used

(4) Functions of advanced undersea vehicles.

AT HIEEEA AFT/SPACE FOR ROUGH WORK
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R SERET SR Tl S ot : :
mmmmmmﬁﬁamﬁ%ﬂamﬁfﬁwﬂzﬁ. TR TR AE e (e A

() wwmmmwwmmmmwmm
: WWWWWH{@WMWWW.

(2) wm@ﬁ@mmﬁmamwmmmm“
ﬂﬂ- FIVIE AET 0571 Ha) 5 W T e e WO § Gud e

(3) it i GEwERITEn wReT s e W Tae wRe @IS aeEet gt S

(4) 21 Fufadiel SRl et weEt s e s 1 st wA o, S 19 auH
YA S YREIYE A FI SHTH A1 I IR W el

Study the reasoning used in the argument given below and select the option that most closely
follows the same reasoning.

If heat or light is emitted by a body, then ils energy decreases. It follows that, if a body’s
energy remains constant, it has emitted neither heat nor light.

(1) When either freedom of specch or freedom of assembly is present in society, democratic
government inevitably results. If you live under a dictatorship, you must therefore lack

both of these key liberties.

(2)  Either the fans are very loyal or they don’t mind the team losing week after week. No
fans like to watch their team being beaten, so they must be very loyal.

(3) With water and sunlight this plant will thrive, since both water and sunlight are
necessary for a plant’s survival.

“(4) Anybody over 21 who holds a university degree or equivalent is eligible for selection.
Since Amina is 19 and still an undergraduate, she cannot be eligible.

l e FHTrardt S/ SPACE FOR ROUGH WORK T
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60. WA S @, S, ¢ & # 71 Feyrgian qEIAWA TN el 3.

A & BRIS A ¥ B 9&7 e A

AS BWAHBﬁmW%ﬂTWq@
A@BmﬁmBﬂ&HTﬁ'ﬂﬁﬁ!'ﬂfiﬂﬂTﬁ

A#Bm,waﬁmamw’r
fqem: HOD TSDFSH

agarr: () FéD
FoR M/ FTRA B 6 ?
(1) e FA

(2) e A (1) §A

(3) e ATHA (1IT) ¥4
(4) IEH (1) ¥ (1) ¥

In following question, the sy
A ¢ B means A is not greater than B
A S B means A is neither smaller
A @ B means A is neither greater than

A # B means A is not smaller than B
Statement : HoD TSD FSH
Conclusions: () F¢D (I T#E
Which conclusion/conclusions are true ?

(1) None of true

(2) Only conclusion (I) true

(3) Only conclusion (III) true

(4) Conclusions (T) and (II) true

(1) T#F (m DSF

mbols @, §, ¢ and # are used

than or equal to B

or equal to B

() DSF

as follows.

ST FHTATATS AT/ SPACE FOR ROUGH WORK
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i E“@WﬁhmmﬁﬁwwﬁiﬁWajm,wmﬁﬁﬁ
% o 270° o ez, e st e s e Fen a2
(1) ufivem )

43 P14

@) 3IW () T
A man is facing towards We

then turns through 27¢° St and lurpg

anticlockwise,

(]} West {2)

through 45° clockwise, again 180° clockwise and
In which direction is he facing now ?

North-West (3) North (4) South-West

62. P,Q.R.?Tatrmf‘mummaﬁmﬁamémma_ AT U ST STEATI, T a0 Haw,
U AHN T8 TR/ 9, o =y o

A 1 St B qurE i <M forn fawd sed. @ e 9A faafa
o ‘11 [ ','5' ”f"“ "5"" TATE A 31, S T A1, TTHTE Uhel Tl JaTd] 29 Jrdad

el feert ST HAFE A R ot et 29 = fd U g sreie fare Sen s, s

SV SE. P S A e am s T wret s 1@, e Tafaiga sree faum

frar=t,

(1) TR femiEh e Hen fivm s e @,

r(2) ST SR AT S A T T,

@) i AR e T e T TR [ 9 I,

(4) WG TEE 9 T W A,

P.Q R, S, T and U are green activists. One is a teacher, one is a health worker, one runs a

tea stall, one is a librarian and two ladies are farmers. There are lwo married couples in this

group. The librarian is married to S who is a farmer. None of the women in the groups runs

a tea stall or a nurse. R runs the tea stall and is married to U who is a teacher. P is married

toSand T is not a farmer. Select the statement that is false from given options.

(1) Itis not possible to ascertain total number of women members of the group.

(2) The person who is librarian is definitely not a women.

(3) The person who runs a tea stall is definitely male member of the group.

(4) There are definitely three female members in the group.

HoAT HTRIE T/ SPACE FOR ROUGH WORK
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63. TR HTR Y = e wrepd fivredt vl Fere.

1 (g @ |ug @) Q@

' Select the fold that is obtained by folding transparent sheet Y.
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6. 40p TR, T TR 9 W0 1 e way ey 11_ W 10 feaam of FmE. @ & e

T 8 T FTH FOW et sl mordy vt w20 feeram g wedta ?
M 27 (2) 250 (3) 675 (4) 400

th

400 persons, working 9 hours a day complete 1™ of the work in 10 days. How many of
4

adccliiﬁon:l persons, working 8 hours a day, required to complete the remaining work in
20 days !

(1) 275 (2) 250 3) 675 (4) 400

_ S

65. T T A, B,C, DS STRY 52 4. 397 waro favrmerart e, 9K C @ D ¥ T 1000
fiearet, T B =01 a2 feneit 3r@er ?
(1) ¥ 500 (2) %1500 (3) %2000 (4) T 2500
Some amount is to be distributed among A, B, C, D in the proportion of 5:2:4:3 respectively.
If C gets ¥ 1000 more than D, what is the share of B ?
(1) 500 (2) 21500 @) T2000 . (4 2500

6. IS T A e e TS T e S 2 T A W ¥ S S FIt
S R, T S A T Qe ST, TR i 3wl (e gl Ficiie i Y
S B @ fere= ufeedt a2 2 At s e S @ . 221 3 FEh @ St g o
e T T A E e FwE A e, S fed e 2 @ A A e AW
Afeiit 170 Fragien 9F, =1 T 2 anfor 370 Frasien TE AER 0 fuiia Fevamet
1 Hewd el ST o FIOTETE e e S T W A8 e e svn fofa @

ae, T 1 GLNE eren M AL,

(1) T <4 () WfEwE@m (3 TR (4) R foha T2
Five friends wanted to go on holiday together to one nearby village, but they found it difficult
to decide where to go. Jai and Mano both wanled to go to Pane, with Fene as their second
choice. Kali wanted to go to Make, while Lily’s first choice was Gute and Naz's was Tembe.
Naz and Kali both put Fene as their second choice, while Lily gave it as her third choice,
preferring Tembe as her second choice. Kali and Mano put Tembe as their third choice.
Jai’s third choice was Gute and Naz’'s was Make. They agreed to allocate three points for a
1t choice, two points for a and choice and one point for a '3“1 choice. The friends decided that
they would not go anywhere which was not someone’s first choice. Select the place they did

go for holiday.

(1) Only Tembe (2) Paneor Tembe (3) Only Fene (4) Make or Gute

-. FOR ROUGH WORK
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67. T T T TR 414 TR WA, TV A ST TGS WA 1% T W .
SRR TR Pl vl are e @ et =men armm ¥@ faw
(1) 18 hr., (2) 12 hr. (3) 9hr (4) 10 hr.

A pipe can fill the tank in 4%2 hours. But due to leakage at the bottom, it takes 12 hours more
to fill it. If the tank is full select the time that it will require to get emptied due to leak.

(1) 18 hr. (2) 12hr (3) 9hr (4) 10 hr.

68. T WTEEAT FTE VAl ME, A 7 W el @ Geit Fanar e At FE
i FoRel A, FETETIYe (e A e e e T @ ST e fawr amea,
T ¥R T GEAe! et W foud AT 1 FETerAEe qeAiH I STt fRAe
e fEe.

(1) 19 ) 17 3) 15 4) 10
In an aviary there are a certain number of birds. Nine are crested birds and ten are qutted
birds. Some of these have crests as well as spots. Of the seven yellow birds in the aviary,

each one only has either crest or spots. Of the four red birds in the aviary all have spots only.
Select the minimum possible number of birds that are there in the aviary.

(1 19 (2) 17 (3) 15 4) 10

69. A,B,C,D,Emrﬁﬁmﬂﬁmmﬁm@amwmﬁm
afor <t A% e FAA Irdted I L A%@memcm:ﬂaﬁﬁ@aﬁ
E % et D feban B = 9ol A€ B ¥ YA A A I AL R B ® el TA:=A1 SETHSIT T

mmumwmmmﬁmmmmﬁmﬁtﬁqﬁm%
fra=t.
(1) wwD (2) W F (3) wwmDfFNF (4) wFE

Children A, B, C, D, E and F are sitting in a circle facing each other not nccessarily in order
given here and playing game Chinesc-whisper. A is sitting opposite to F and to the left of C.
E is not adjacent to either D or B. B is not adjacent to A. If B is the first child to say the
message and whispers in ear of child on its left then select the child who will not get the
chance to whisper message at end of the first round.

(1) OnlyD (2) OnlyF (3) EitherDorF (4) OnlyE

AT HWATS AT/SPACE FOR ROUGH WORK
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10. W%ﬁﬁmmwwwmmmm
i 5"m”5 e WS HTUTeiy sreamit 4 amda, wq e THTATH HC@RAAT

I 1o i e gy e R TR e G
et ¢ TF‘ITE;HT mmmﬁﬂlmmwmmmwm
“Wﬁa, 56 TR T Pt aien vy e SR W e FA
o WA

(1) R & TR IR T AT Sy e it v < A A SEET SR
(2) WWWWWEWmemmmWW

(8) SR GEHEE WOAFG I 2 ey s Tece Gadid S @ A a
;= MIRIAH WgUah Bl

(4) & TSIV R T SRS 491 o 1 a1 o 2 wifFeerferania i s i

The intake pipes of nuclear plants and water plants along Great lakes are clogged by a certain

variety of mussels that proved to be causing nuisance to the working systems. But it is found

that the bags of these calms when suspended in the cffluent streams of chemical plants, not

only improves quality of water significantly but also remove some hazardous wastes from:

effluents just by feeding voraciously on the algae that they filter from water that passes by it.

Which one of the inferences given below, if true, is most strongly supported on the basis of

information given in the above paragraph ?

(1) If these mussels spread to areas of the river and displace native calms that support
cultured pearl industry for decades, that industry will collapse.

(2) If the mussels failed to consume the quantity of algae available to them, then the intake
pipes of the nuclear plants and water plants will get clogged by it.

(3) If the wastes from the effluents are not transformed into non-hazardous chemicals by
these mussels themselves will become hazardous pollutants.

(4) These mussels are brought in this area through freighters and are thriving here since
their population is not controlled naturally in the ecosystem.

7. T W FesyEE 9 9 @EEd 5 I e

(a) XTY T VIS AR (b) z-@xﬁaﬁwaﬁ
(© MTIN T IS AR (d) NTY e ame
M = HTHI SHUIRT ST 0 ?

(1) X (2) Y Q) Z (4 N
Read the information carefully and using it select the answer to question.
() Xisa brother of Y (b) Zisasister of X
(¢) Misa brother of N (d) Nisadaughter of Y
Who is a uncle of M ?

(1) X @ Y @) Z @ N
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(1) 25% (2) 21% (3) 16%% (4) 16%

Study the pie chart of percentages showing crime against women in states A, B, C, D, Eand
F of certain country in the year 2018 and accompanying information. Total number of cases
registered crimes were 210000.

If the proportion of nature of crime remains the same for each state and percentage of dowry
death cases registered is 9 then select the percentage by which dowry death cases in state E
is less than that in state B ?

(1) 25% () 21% @) 165 % @) 16%

win

o AT A/ SPACE FOR ROUGH WORK

Scanned by CamScanner



49 P14

m:gﬁ SH o eaten i) i) v wr Fo
RRLRLE R £ D ———_—— R

. m - "R ST YT W o1 ¥ Wi e e e Wy 41 W
BRI kLR o e N e e

5 m- I SR FO e o 7 Foren S T i v e e ¥
(8) T TR 1 8 Toeten sersseiersh et avgvars ol 2 & 571 SN 2

4) mmmmmmmﬁwmmm HreRT X feait=n
mmmmmmmmmmmmm

Read the following argument carefully and select the most appropriate option that if true,
indicates that their decision is not aimed at decreasing team member’s risk of heart disease.

A team of researchers studying effect of drinking coffee have found that persons drinking
more than four cups of coffee have a risk of heart disease 2.5 times than the average after
correcting it for age and smoking habits. It is important to note that the members of this
team declared that they have started limiting their own daily coffee intake to two cups as a
result of above finding.

(1) Itis well established fact that the stress is major causal factor related to heart disease
but it is not clear whether this team has collected information about variations in coffee
consumption are directly related to the variations in stress levels.

(2) Subsequent studies have shown that non-smokers consume coffee at about one-third
the rates of heavy smokers.

(3) Subsequent studies have shown that heavy coffee consumption causes an elevation in
blood-cholesterol level, an immediate indicator of increased risk of heart disease.

(4) Their own study found that for persons drinking three or more cups of coffee daily, the
additional risk of heart disease increased with each extra daily cup.
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The average age of persons A, B, Cand D is 30 years. Determine the age of D,

Data statements :

I.  The sum of ages of A and C is 60 years.

. Dis 10 years younger Lhan A.

Select Lhe correct option with respect to gelling solution to stated problem.

(1) Data provided in the statement I alone or statement [I alone is sufficient.

(2) Data provided in the statement I and Il together is sufficient.

(3) Data provided in the statement 1 alone is sufficient and statement 11 is nol necessary,
(4) Data provided in the stalement I and 11 is not sufficient. -

75,
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() ABCER 2@ sfBe canzs e,

B has ¥ 5 more than C, Al
ek a5 T 14 more than B. Select the transaction that makes E*I““"l

(1) Agives¥6toBand B givesT3 to C,

(2) Agives¥T3toBandC receives ¥ 6 from A
(3) A BivesT8 1o Cand B receives ¥ 3 from Al
(4) AgivesT2oC and B BivesT 5 to C -
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& question no, 76 - 80,
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You are working as a fourth grade worker in the solid waste management department of a

municipal corporation. You joined the corporation after you father’s untimely death. Though

failed in 10" class you are a voracious reader. Observing your interest in reading, chief

supervisor in the department encouraged you to continue education and change your fate.

With your personal efforts you have completed graduation in commerce and post-graduation

in social work. Now for continuing research in social science institute, you have received a

foreign fellowship abroad and have applied for a study leave. As per the rules of corporation,

employee gets two year salary protected leave for continuing education. But the head of the

corporation rejected your application and discouraged you by asking question, “Who will
do cleaning work if you get higher education ?” Which way would you choose for sorting
out this problem from the following list ?

(1) Discontinue your education as you are well acquainted with the attitude of many of
the so called higher cast persons those create trouble for persons from lower social
strata even if they are appointed on higher posts.

(2) Talk to this person patiently for reminding hm:t about educatiqnal leave provisions
available to you as an employee of the corporation and about his disrespect towards
Constitution. o ) o

(3) Try to know facts about rejection of application anc} organize an agitation with the
help of activists using different approaches and media.

(4) Concentrate on the rejection of leave :‘alppllcahon an_d make aware all concerned higher

authorities including national authority that looks into these types of problems.
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You are the head of the “social cell” of district police department. You are approached by

the group of women and among them some are married and some are unmarried. They

claim that they are pressurized and in some cases threatened by their families to participate
in ‘Guru-Seva’ programme of certain holy sadhu during last fortnight of next month, for

earning his blessings for the prosperity of the family. The members of this group don’t believe
in this kind of devotion. You met this holy person on many occasions but never heard anything

wrong about him. You would........

gsaﬁaaméﬁl%ﬂﬁfﬁf‘oﬂ

(1) ...convince women, that it is their duty to participate in Guru-Seva for earning blessings

for the prosperity of their families.

(2) ....seeka written complaint from each woman and send appropriately worded notices
to the concerned families for forcing any member of the family to participate in such
programme against his or her will is illegal.

(3) ... convince women that it would be better to tackle their own family problem with
the help of NGO working towards eradication of superstitions,

@) e take the help of NGO, schools and colleges to organise campaign in the district to
make people aware of the fact that it is illegal to force persons to participate in such
programme against their will. P P

—_
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You are director of private educational institution that caters for the learners from KG to PG.
You are concerned about unfettered information flooding social media and about the effect
of such information can have those most impressionable. You will........

(@)

2)

totally ban access to the net in all campuses of your institution.

request students to take a pledge to be careful while making decisions and taking actions
based on news.

design time table and request teachers to spend some time in class for conducting
discussions about the damages done due to fake news.

assist learners to get empowered to identify fake news by making news analysis a
mandatory part of curriculum.
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You are a medical practitioner and appointed by the prestigious educational instit_ute for
allotting fitness certificates to all persons before they are employed in the institution. A
highly qualified person X is interviewed along with many other candidates and was selected
for the teaching post by the head of one of the department as the panel of interviewers found
him to be very competent. Two members belonging to your community who are faculty
members of this department approached you and pressurize you to give negative certificate
about X’s fitness. They are interested in creating trouble for the X and the head of the
department who belong to the same community. These persons might use their connections
and cancel your assignment with the institution in the future. You will.....

(.. tell these persons that though you belong to the same community, you are not
appointed to follow their suggestions.

(2) o try your best to delay the appointment for some time and make X and the head of
the department, miserable only for some days to avoid pressure from these persons.

() J— certify that the person is not fit for the work for which he has been selected as his
heart is extraordinarily large for saving your appointment.

4) .. request them not to interfere with your work and allow

scrupulously and righteously without any kind of biases. you to execute your dulies
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You are a farmer by profession and own a few acres of land. Many other farmers from
nearby places, those own insufficient land and landless people, work as labourers on your
farm. They do all sort of work including spraying insecticides and herbicides. Many farmers
in your district committed suicides and continued to do so including some of your workers.
You came across the newspaper article that informs that many studies all over the world
claim that insecticides play major role in motivating persons to commit suicides. It is not
limited to commit suicide by drinking insecticides. While handling and spraying, molecules
of insecticides are inhaled and get accumulated in the body over the years. This affects

human brain and neuro system and attitudes like frustration, depression and self-destruction
are developed among these persons. What will be your response to this information ?

(1) 1 will provide all quality safety equipment to my labourers and train them to handle
and spray insecticides with necessary care.
(2) 1 will stop using these chemical insecticides as they are life threatening and use other
. remedies for saving my produce from insects without bothering about the yield.
(3) I will consult reliable expert or get fluthenﬁc information using internet to find out
availability of safe insecticides, even if they are costly.

> '(4) [ will have to wait for further research and till then I will continue to use insecticides
that I am using now for to keep my crops safe from the insects.

-00o0-
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